J2 J1 J3
1 2
1 3 o © 7 P2 1 P1
2 3 o © 6 P4 2 P3
3 7 o © 8 P6 3 P5
4 ) o © 10 P8 4 P7
5 1 o © 7 P10 5 P9
6 3 o © 14 P12 6 P11
7 5 o © 16 P14 7 P13
8 7 o © 8 P16 8 P15
9 9 o © 20 P18 9 P17
10 51 o © > P20 10 P19
11 23 ® © o p22 11 P21
12 55 o © 6 P24 12 P23
13 57 o © 28 P26 13 P25
14 59 o © 30 P28 14 p27
15 31 o © 2 P30 15 P29
16 23 o © 3 P32 16 P31
17 35 ® © 3% P34 17 P33
18 37 o © 38 P36 18 P35
19 39 ® © 70 P38 19 P37
20 a1 o © ) P40 20 P39
21 23 ® © 74 P42 21 P41
22 45 o o© 76 P44 22 P43
23 77 ® © 78 P46 23 P45
24 29 o © 0 P48 24 P47
25 51 ® © 55 P50 25 P49
26 3 o © 1 P52 26 P51
27 5 ® © 6 P54 27 P53
28 £7 o © g P56 28 P55
29 ) ® © 60 P58 29 P57
30 61 o © & P60 30 P59
31 53 ® © o4 P62 31 P61
32 o © P64 32 P63
Socket 32 IDC-64 Header 32
H1 M3 screw, 5mm H2 M3 lock washer H3 Standoff, 8mm, M3 ‘H4 Standoff, 3/8", #‘6 ‘HS 6-32 flat head, 5/‘8"
B1 [ ] B2 [ ]
H6 M3 screw, 5mm H7 M3 lock washer H8 Standoff, 8mm, M3 ‘H9 Standoff, 3/8", #6 ‘Hlo 6-32 flat head, 5/8"
McMaster-Carr o - o - H11 Standoff, 8mm, M3 Digi-Ke McMaster-Carr
90116A150 Bracket Bracket C ] LASTBIOND 91009A222
SH1 SH1 H12 Standoff, 8mm, M3
H13 M3 screw, 8mm H14 M3 lock washer
Digi-Key
H15 M3 screw, 8mm H16 M3 lock washer 24392K-ND
McMaster-Carr McMaster-Carr
90116A153 93925A240
"™ EtherCAT Adapter IDC-64
er apter -
Size Number Revision
A D1201289 1
Date: 9/14/2012 [ Sheet1of 1
File: C:\Users\..\EtherCAT_IDC641.SchDoc | Drawn By:Daniel Sigg

1 2 3 ‘ 4




